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Topic:- General Knowledge and Logical Knowledge
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Who is seated opposite to Jatin? /STide & STH hid 9ol o7

1. Rahul /Xgdl
2. Jayant / STId

3. Mohan /'mET-T
4. Sudhir / IR

Correct Answer :-

« Jayant /S4d

2) Which of the following is India's National Aquatic Animal? / FHifed & § WRT ST AP Sersiia
P AT 2

1. Gangetic Dolphins / 7T a1 Sifetp
2. Goonch Catfish / 117‘4[ Fefther
3. Mugger Crocodile / HIR U%Hl?f

4. Golden Mahseer / Mg W
)



Correct Answer :-

+ Gangetic Dolphins / T 4t Sifetp

3) Which of the following bodies replaced Planning Commission in 2015? / = d 9 fPa e 2015
H ST SR T R forar?

1. NIYAM Aayog / I 3T

2. NAGRIK Aayog / ARTRS ST
3. NITI Aayog / =iiTcl ST

4. None of these / 37@ | m :ﬁﬁ

Correct Answer :-

« NITI Aayog / =Tl STINT

4) Which of the following days is observed as ‘National Girl Child Day’ in India? / FE # I frafea &t
HRA § P TP feaer & U & 711 oIl o7

1. 8" March /8 At
2. 21 January / 21 SHAR]
3. 24th January / 24 SHaRT

4. 10t March /10 ’-:ﬂ?af

Correct Answer :-

.« 24t January / 24 [EEER]

5) Which Bill can be introduced only in the Lok Sabha? / foa fada® (ﬁﬁ) P A APIHT H Udd
o o HHa 82

1. Financial Bill / fa<ia fadas®
2. Exchange Bill / [afaa fadas
3. Ordinary Bill / QTR fagres
4. Money Bill / & fada®

Correct Answer :-

« Money Bill/ 4 f[ada®



6) In the Mahajanapad yug the Ujjain was the capital of / HeTSI-TUq gl H 3= 3'\‘13% ST
1. Matsya / H&J

2. Ashok / 31T

3. Vajji / Tl

4. Avanti / 37ddl

Correct Answer :-

« Avanti / 3fddl

7) Amarkantak is located in the District / SR&Be® EGE: 02 %l

1. Shahpura / RMMIEYRT
2. Bhojpur/ ﬂ-h'\—rl'@
3. Anuppur / 3{JUYR
4, Ttarsi / ICRYT

Correct Answer :-

e Anuppur / SHTUYR

8) If NOVEMBER is coded REBMEVON and DECEMBER is coded REBMECED, then how is

OCTOBER coded? / aféd NOVEMBER %I REBMEVON ¥ d4T DECEMBER %1 REBMECED I
Hifsd fHar SiTar 8, 9 OCTOBER &1 &4 Pifed fbar SR

1. RETBOCO
2. RTECBRO
3. REBTOOC

4. REBOTCO

Correct Answer :-
¢ REBOTCO

9) The largest state by population in India is ./ SMTETSt & 19 | YR 3T I ST Y
gl

1. Uttar Pradesh / TR UC ¥l

2. Andhra Pradesh / 3= TG

(4)



3. Maharashtra / TIE'RTE
4. Madhya Pradesh / HJ Uex

Correct Answer :-

o Uttar Pradesh / 3T} Qa'QT

10) The largest free literature festival in the world is held in India annually. What is it called? / gﬁl'CIT |

TN 98T Yo Hifeed Heledd HIRd H HIeHT Smrfore forar s 81 59 Fr #gd 82
1. Jaipur Literature Festival / SIQR e HgIqd

2. Bengaluru Literature Festival / ST e Aglead

3. Mumbai Literature Festival / Haé g A8l

4. Delhi Literature Festival / faeell Wifigd Agica

Correct Answer :-

« Jaipur Literature Festival / SRIQR HIigd HEIdd

11) The river that flows parallel to the Narmada is / THET P FHT=R g8 areil 941 @
1. Denwa / ¢1dT

2. Tawa / ddl

3. Shipra / f&rom

4. Tapti / aret

Correct Answer :-

» Tapti/ et

12) 'Bihu' is the festival that is mainly observed in / ‘ﬁﬁ’ @W'ﬂ@ﬁ 'CIETTI?I'QT SITdT %

1. Bihar/]%_EﬂT

2. Assam / 3HH
3. Kerala / Hd
4. Rajasthan / TSR

Correct Answer :-

e Assam / 3IH



13) Jim Corbett National park is situated in which state? / o wide ?Wmmwff@ﬁ%?
1. Uttarakhand / STRIES

2. Uttar Pradesh / IR U

3. Himachal Pradesh / fgAmaa Ug=r

4, Assam / 3HH

Correct Answer :-

« Uttarakhand / 3TRIGS

14) Who was known as the Grand Old Man of India? / ‘H'R?f% 133 sﬁ?s'ﬁq%? '@‘qﬁaﬁqm SITdT
Yr1?

1. Gopal Krishan Gokhale / TIUTel &80T TTRael
2. Bal Gangadhar Tilak / &Td TiTMeR foae
3. Mahatma Gandhi / HgTHT el

4, Dadabhai Naoroji/?ﬂETJ-ﬂ%;:ﬁﬁGﬁ

Correct Answer :-
« Dadabhai Naoroji/?("lﬂ'ﬁ-{'l'ac RIS

15) The ancient city of Ujjain lies on the banks of __ River. /ﬂ'ﬁﬁqw IS _T'I'pr% de R fRE %I
1. Narmada /:W:TET

2. Kyashypa / Uy

3. Shipra /QTQT

4, Tapti / TGt

Correct Answer :-

e Shipra /QTQT

16) Who is the current director of CBI? /?ﬁ%ﬁ\?ﬂ%% a?fnr—r ﬁé’&ﬁs ﬁﬁ%”
1. RK Dutta / 3R & &l

2. Satish Mathur/ﬂ?ﬂQTﬂT?:R

3. Alok Kumar Verma / GWWEIIIf
(6)



4, Anil Sinha / Hﬁ?fﬁl%T

Correct Answer :-

s Alok Kumar Verma / Wwaﬂf

17) Find the odd one out: /wﬁmﬂmaﬁﬁm
1. Ink and Inkpot/mamm

2. Pen and Nib / ad T A

3. Oil and Lamp/a?f?f?ﬂa:q

4. Water and Bucket / GT! GT STect

Correct Answer :-

« Pen and Nib/ FaH dyT g

18) Find the odd one out: / U fqUH JTd PIfoIL:
2,5,10,17, 27,37

1. 10

2. 17

3.27

4. 37

Correct Answer :-

19) In a certain code language, veny heny steny means get out man; steny shomy shelt means out of
danger. Which is the word for steny in that code language? / T W PHIS U 'ef, veny heny steny ®I 3%
get out man; steny shomy shelt ®T 31 ¥ out of danger Eﬂ?IT % 19 IS UTITH steny & ﬁl'[{ fPazg o1
STIHTS fPaT AT 82

1. man
2. of
3. out

4. danger

Correct Answer :-



e out

20) If HANDLE is coded AHDNEL, then how is DISTANCE coded? / Tf& HANDLE 1 AHDNEL & IfSd fmar

ST §, Y DISTANCE Y $& HifSd fbar sram?
1. IDTSNAEC
2. IDTSNACE
3. IDTSANEC

4. DISTNACE

Correct Answer :-
o IDTSNAEC

21) Which of the following animals do NOT appear on the national emblem? /ﬁ'ﬁ' ek aﬁﬂmmg ?T@'q

Hoeite TR IufRud T8 giar 22
1. Cow /T

2. Bull / IS

3. Horse / TSI

4. Lion / R

Correct Answer :-

e Cow /Y

22) National Defence Day is observed on /Tl'@'q?&ﬂ feaw W'FFI'NTGI'I?IT%?
1. October / 3{dgalR

2. April 5/ 5 30d

3. December 8 / 8 [GTTR

4, March3/3 TI'I?T

Correct Answer :-

. March3/3Iﬂ?f

23) What is the probability of getting two odd numbers in two throws of a dice? / Th T &1 E,Pf IR B
TR 3 faus W@t ured g9 1 1 uriisan 82

(8)
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Correct Answer :-

J
. 4
24) Complete the series choosing the missing number: / & T TADB YLl Eal T PIfoTg:
1,2,3,5,8,13,

1.21

2.24

3.18

4.17

Correct Answer :-

25) Complete the series choosing the missing number: / & H&IT oD YLl C| T PIfore:
6,13,27,48,

1.76

2.94

3. 136

4. 121

Correct Answer :-



26) Complete the series choosing the missing number: / & I&AT YAHR gl ﬁwaﬂﬁt{:

18, 16, 13, 9,

1.4
2.2
3.6

4.7

Correct Answer :-

« 4

27) India’s first Defence University is being set up in . | HIRd &1 Ugdn &1 fayfaemeas
_ #wafearemIerel

1. Haryana/@ﬁtﬂnﬂ
2. Delhi / faceit
3. Punjab / USITd

4. Uttar Pradesh [ 3T Tcl

Correct Answer :-

e Haryana/ R

28) Select the option that is true about the Statements and Conclusions given:

Statements:
All candles are lanterns
All lanterns are bulbs

Conclusions:
I. All lanterns are candles
I1. All bulbs are candle /

39 fawey T 999 SR Wi T 7T F1 3R Aol & IR & wet 8:
DY

it HiuaRmar aree &

Taft arere ge9 §

e

(10)



1. gt Tere diwah §

11. 94} 9e9 HiFe §

1. neither conclusion I nor conclusion II follows / - éjf s | 3ﬁ?’ - é)[ ey 11 S0 A %
2. both conclusion I and II follows / ﬁ'@?@h G'ﬁT II aﬁr SR m?r %

3. only conclusion II follows / &Had FshY 11 STFIRT hdl %

4. only conclusion I follows / Had Y 1 ST IRAT

Correct Answer :-

« neither conclusion I nor conclusion II follows / - ﬁ fAspy 1 3R T Eﬂ ey 11 ST Eb_{?f%

29) Select the option that is true about the Statements and Conclusions given:

Statements:
All kerchiefs are towels
All towels are blankets

Conclusions:
I. All kerchiefs are blankets
II1. All blankets are towels /

39 fawey o1 997 ST Sife T 1T FuAl ok el & TR 5 981 &:
DY:

it e ARk ©

Tt i e §

e

1. 94t &9 Haa §

1. it e AR &

1. neither conclusion I nor conclusion II follows / = ésf ﬁ'@ﬁI GﬁT - 33[ ﬁ'@?‘ﬁ JIRS GRRYI B %
2. both conclusion I and II follows / 5B I 3R 11 G ST P %

3. only conclusion II follows / $Had ey 11 STFIRT hdl g

4. only conclusion I follows / &I FsHY [ SITARTT AT

Correct Answer :-

« only conclusion I follows / A 5HY I 3THRUT T §



30) Select the option that is true about the Statements and Conclusions given:

Statements:
Some interviews are exams
All exams are tests

Conclusions:
I. All tests are exams
I1. Some tests are interviews /

I fased &1 T SR Sife 3T g Hyl iR syl & 9k & T8l §:
Y

TS IETPR WIS §

gyt gdtemt S §

A

I i ot odteme

Il. $S ST TITDHR &

1. neither conclusion I nor conclusion II follows /= ﬁ fAsp 1 3?IT q Bof spy 11 S0 HIA %
2. both conclusion I and II follows / FT55H I 81R 11 G SR CaG %

3. only conclusion 1T follows / Had =Y 11 SIFHRU hdT %

4. only conclusion I follows / Had sy | S{RTT W%

Correct Answer :-

« only conclusion II follows / Had R 11 STERT HRT §

31) Select the option that is true about the Statements and Conclusions given:

Statements:
All word files are excel files
No excel file is a power point presentation

Conclusions:
I. No word file is a power point presentation
I1. Some excel files are word files /

39 fahey &1 ag ST Sifp 3T T Hy=T 37 Frepul & a A Tl &:
BY:
Yt 9 gl TR BIgd ©

(12)



e

I. BT TRIT BT3d UIaR WIEe USieR -8l &

I. $ T BI5d 98 BI3d &

1. neither conclusion I nor conclusion II follows / 7 &1 F5GY 1 3R 7 €} e 11 31IERUI %R &

2. both conclusion I and II follows / ﬁm’mfl GﬁT I (‘:I"rl SR B %
3. only conclusion II follows / Had ﬁf@?@f 1T 3R hRdl %
4. only conclusion I follows / BT fHY | 3[TERI HRT &

Correct Answer :-

¢ both conclusion I and II follows / ﬁ'@b_ﬁl 3'?1? I 3-|'_‘i|' SR GG %

32) Total number of districts in Madhya Pradesh are / H%d W= § o7l @ oo T @
1. 50
2.33
3. 49

4.51

Correct Answer :-

« 51

33) Children’s Day in India is observed on / YRd ¥ 99 fead P AT ST 2
1. November 14 / 14 9d&X

2. November 15/ 15 qd%&R

3. November 13/ 13 FJd&R

4. November 12/ 12 9d¥R

Correct Answer :-

« November 14/ 14 9d&}

34) The series given below contains a sequence of numbers. Identify the incorrect

combination: / T & T e H, TS BT TP HH IUMRU &1 TAd Jale Ugar-g:
10, 14, 28, 32, 64, 68, 132

1.28
(13)



2.32
3.132

4. 64

Correct Answer :-

35) Who is the Chairperson of the Central Board of Film Certification (CBFC)? / Fg fre yaUE 9

@idivwh) & remer HI 82

1. Asha Parekh / 3{IRIT UG

2. Prasoon Joshi / U =i

3. Pahlaj Nihalani / GgTSl fAgam
4, Anupam Kher / 3IUH TR

Correct Answer :-

» Prasoon Joshi / U¥d EIE]

36) Complete the series choosing the missing letters: / Ul &R &R} B EECTEICR] | T PIfoIg:
X,V,T,R,P,

1.N

2.0

3. M

4.L

Correct Answer :-

37) Consider a group comprising of 4 students: Reena, Beena, Meena, and Neena, who stand in a row. Reen
and Beena stand in 6th and 7th positions respectively from the left. Meena and Neena stand in the 4th and 5th
positions respectively from the right. When Beena and Meena exchange their positions, then Beena will be
15th from the left.

Reena's position from the right is: /

4 BTl {41, Fi41, W41 ok T & U TE R AR &3, o e Uit ® WSt &1 91 siR S ars

3T A HHT: 69 3R 79 R R T &1 HA71 3R 1 2 iR & hAmr: DY 3R Uied ®IF R T@S1 &l

g 471 3R W4T 3= R FY rger-aeel HIdl 8, df G191 91 F 1591 gRft |
S (14)



% AR AT FH RT3
1.6
2. 18
3.13

4. 14

Correct Answer :-
e 13

38) The series given below contains a sequence of numbers. Identify the incorrect combination: /i E‘&TIEF
s §, H=sil &1 U B IR B | 7Tad Hatel- Ugar=e:

32, 43, 45, 54, 65, 76

1.76

2.43

3.54

4.45

Correct Answer :-

39) In a certain code nek pek dek means read my book and dek sek wek means a book stand
.which is the word for book in that language? / T @ PIs T H, nek pek dek &1 3 read
my book YT dek sek wek DT Y a book stand TXAT €1 T HIS MU § book P ToIT fF Treg &1

TTAHTS fhaT 7T 82
1. dek
2. wek
3. sek

4. nek

Correct Answer :-

o dek

40) + => Multiply
* => Division
|/ => Addition
(15)



- => Equal to
= =>Minus/

+=>TJUIT
* => YT
/=>'€ﬁT|'
-=>H TR
= =>Ycld

15=3+4/2%2
1.6

2.25

3.5

4.2

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

1) In the sequence shown below, which figure comes nexi? / @ f&3r 7 &H &, 39K

HTHICT ieT | HTLA?

& o S ] e ey
£ &H‘}% ST ' 2l | A
VAN AR ONZATNANVA)

,.f"\’ ! l;:-,:_-x;i‘;\ { f;»'\\ | K y: Gy
\ NN VNN i\,\/’j

S o —l 4

! i i i

(16)



2) If the following two squares shown below overlap, which one of the following

options is formed? / A e ) 91 Ifocaid @0 & o =Fa § § &9 91 w6

M [

(17)



Correct Answer :-

3) In the sequence shown below. which figure comes next? / Arel 31 IR Ha #, 3ol 311@‘1?1‘ Sl I
3][ [‘ i H

Ly

)
2. Q
3. 2
4. 5

Correct Answer :-

n

4) In what ratio must the water be mixed with milk costing Rs. 40 per liter to obtain a mixture worth of

Rs. 36 per liter. / 40 FUT/ WeX a1 g DI 36 TUA/AICY DI HIAT BT G4 & 1T STH YT BT
SUTd fopa=T BT ATee?

1.9:1
2.3:4
3.1:8

4.1:9

Correct Answer :-

e« 1:9

(18)



5) Three men, A, B and C can do a piece of work in 10 days. B and C can do it in 20 days; while C alone
can do it in 30 days. In how many days can A and B do the work together? /?ﬂ:TG'I'IETﬂA, B Gﬁ? cyy
et forsht &m0 @) 10 37§ T 3% TFa §1 B 3R ¢ I S0 &Y 20 &7 A 1 9%a €, w16fd ¢
3HA I HTH BT 30 T A RTHRUMET B 1 A 3R B 1Y | 3 HTH P fha- fa7 d wr e

1. 10
2.20
3.5

4. 15

Correct Answer :-

6) How many numbers between 100 and 500 are divisible by 4, 5, and 6? / 100 ¥ 500 & 19 fHaq siw
4,5 3R 6 F UIT 82

1.5
2.6
3.7

4.8

Correct Answer :-

7) The product of ages of Mark and John are 15. If John’s age is subtracted from Mark’s age, the result
is 2. Find Mark’s age. / HT® 3R S @1 3T BT UFHT 15 g1 TS ST BT 1Y o1 A1 Bt Mg |
HETIT ST o YOI 2 WIS gl 81 W &1 3Mg J1d HivT|

1.3
2.5
3.10

4.6

Correct Answer :-

8) A shopkeeper bought 6 tons of wheat and sold 4.7 tons of it. How many kilograms of wheat does he

have with him now? / T GHTGR A 6 1 11g WIS 3R 3% 4.7 <1 W 97 AT 39 3TP NI foeam
feur g 92

(19)



1. 13 kg / 13 fooum
2. 1300 kg / 1300 f&am
3. 130 kg / 130 3

4. 13000 kg / 13000 foporm

Correct Answer :-

« 1300 kg / 1300 fouT

9) A shopkeeper bought 6 tons of wheat and sold 4.7 tons of it. How many kilograms of wheat does he

have with him now? / T G&PTIGR 7 6 T g WR1g 3 IHA & 4.7 &7 9 {31 3@ 3web urd fobe
C R CAH

1. 13 kg / 13 f3m
2. 1300 kg / 1300 f3rm
3. 130 kg / 130 fam

4. 13000 kg / 13000 fooorm

Correct Answer :-

« 1300 kg / 1300 fHam

10) When I asked my friend Rajani about her age, she said that, she has two siblings, for sure not twins,
and the product of the ages of the three is 45 and the sum of their ages is an odd number where both the
digits were different. What is my friend's age if she is the eldest of the three? / SId A 3ot CEREEIE
IID! 3Y & IR A YBT, 39 Faran f, 9@ ¢l Uis 8, 5 Ff¥a 0 @ Jear 181 § iz 371 il #°t

3Tg FT UFH 45 3R T T T e & Foreds et ofe g &1 ate 39 o o Y A e
TSI § ot 3P oy fraei gifte

1.5
2.13
3.7

4. 15

Correct Answer :-

« 15

11) A man bought 240 roses at Rs. 9 per dozen. If he sells them at Re. 1 each, what is his profit

percentage? / 9 UA/GS & 3T | TH SATGHT 7 240 19 W | AT 98 S¢ 1 U / [AT B &
Y a1 @ A S e @y ure ghme

(20)



1
33-9%
1. 3
2110
3
2.
23104
3
3.
1
4429%
4, 3

Correct Answer :-

[WS)
(%)
L | =

12) Arpit can make a table in three days, while his friend, Mukul, can make it in six days. If Arpit and
Mukul work together, both of them can make the table in: / 3rfta Wfﬁf 3 ﬁﬁ H g1 IHdr %, ECIGT
PTG P d 39 A B 6 fo & a1 9mar 81 afe iftfa ik gopa w1y & S0 &%, @t g1 39 Ao
&I foram fo | aer a:

1. 1day/1feH
2.2 days /2 T&T
3.4 days/4 e

4.3 days /3 f&d

Correct Answer :-

« 2days/2fa"

13) Average marks of a class of 25 decreases by 2 marks when the marks of 30 students second class are
to first class. If average marks of second class students is 65. What were average marks of first class? /

4 30 fg g Joft faeniiay & yuw 3oft & = fear Sar @ Y 25 9= &1 U BT & g & UTwdih!
T 3N 2 3 U< WaT ¢ | UUH it & fyenfiay o1 sitwa fea 22

1. 68.7
2. 60.7
3.55

4.45

(21)



Correct Answer :-

e 68.7

14) If the average weight of 30 men is 65 Kg and that of 20 women is 52 Kg, then what is the average

weight of all 50 persons together? / TfS 30 SMEFAAY BT AT HR 65 fHIT. B 3T 20 3iizal &1 52 fHam
&, df 50 AN BT TP A1 Sfd HR fopa=r gime?

1. 57 Kg/ 57 {3,
2. 60 Kg / 60 T,
3.67Kg/ 67 fuI.

4.50 Kg /50 fopa.

Correct Answer :-

« 60Kg/ 60 .

15) A person saves 8% of his income. His income increases by 16%, but the savings remain the same.
Find the increase in the expenditure. /Waﬂlﬁ 3IYT 3T BT 8% a?:n?n%| JIP! 3T 16% aﬁ\_rl'l_cﬁ
© TR I U I8l 8 1 Wt A g3 gl fpanl gRf?

1.17.3%
2.10%
3.12.5%

4. 14.9%

Correct Answer :-

16) If a boat takes thrice as much time to go upstream as it takes to go downstream, what is the ratio of
the speed of the boat in still water to the speed of the stream? /tl'%t{a? EICH YRT P faudia fa=m A
B YRT B! o= & oM | i 7471 Sarer 99g odt 31 FRR o7a o 719 31 91 SR YRT 3t 91| T

3T fore=m
1.1:2

2.3:1

Correct Answer :-
(22)



« 2:1

17) A pencil and a rubber currently have the same price. How much more will it cost to buy 3 pencils
and 3 rubbers, if the price of the pencil rises by 5% and the price of rubber rises by 3%? / U e
ISR BT IAHH o T 21 afe URIa &1 e 5% 3R TaR &1 3% 96 oY a3 Uire ofiv 3 3%
@iieA & forg feam Siftre U9 3t ovewd g2

1. 4%
2.5%
3.3%

4.2%

Correct Answer :-

18) Two years ago, the average age of three members of a club was 30. When two more members have
joined the club today, the average age of these five members remains unchanged. If the age difference
between the new members is six years, then what is the age of the younger of the two new members? / 2

99 7d, U 79 & 3 Tl D1 31T g 30 I A | 31eT §F 3R e Faq W A YW IAD!
Mg 1 3N gikafda Tt ganm| afe ¢ Tl F1 Mg F1 3R 6 a4 & &Y g1 ¢ Jew A A B
TG DI MY fhast gl

1. 24 years / 24 Gl
2. 28 years /28 ayf
3. 30 years / 30 %

4. 33 years / 33 ay

Correct Answer :-

o 24 years /24 CL

19) In a test, 40 % of the students passed in Science; 50 % passed in English; and 10 % passed in both
the subjects. Find the percentage of students who have failed. / W%R’ H U ﬁﬁ CIGEIENGA @,
O # 40%, 3RS A 50% MR GHI H 10% 21 el g4 dTel BT BT Uid<Id §:

1.25%
2.20%
3.10%

4.15%

(23)



Correct Answer :-
e 20%

20) The sum of the place values of 5 and 3 in the number 275438 is: / 275438 H 5 3R 3 & WY AT

&1 N e & | g
1.2

2. 5438

3.51

4. 5030

Correct Answer :-
« 5030

21) If an 80 metre train takes 15 min to cross a 70 metre platform, then, how long will it take for the
train to cross another train, of 120 metres, which is stationed on another parallel track? / 80 ez awat

ST B 70 WeR FT B IR FA A 15 FFE &1 TG 7T 81 6 TS TUHTGR ¢P R WST 120
Tiex Tl TP 3= ¢ Bl UR A § 98 oA fova-m 9ad afie

1. 20 min / 20 oA
2. 30 min / 30 e
3. 50 min / 50 AT

4, 40 min / 40 e

Correct Answer :-

« 20 min/ 20 f8FC

22) The area of the sector of a circle of radius 6 cm, whose angle at the centre is 42 degrees will be: / Th

?Wmsﬁ.%,ﬁwmmmmﬁmﬁm%wn%T,ﬁwraﬂmaﬂm

1. 15.4sqcm/ 15.4 G Hiex
2.12.1 sq em / 12.1 T Hiex
3.143sqcm/ 14.3 CURGR
4.13.2sqem/ 132 G Hiex

Correct Answer :-

(24)



« 132sqem/ 132 9 Hiex

23) The allotted seats in an engineering college for computer science, electronics and mechanical in the
ratio 5 : 8 : 9. There is a proposal to increase the number of seats by 40%, 25% and 50%, respectively.

Find the new ratio of the increased seats. / Wﬁamﬁmm,sﬁaﬁﬁw 3R Abfwa &
fore anrdfed el & e &7 3guTd 5: 8: 9 81 el I WA B HHRM: 40%, 25% 3R 50% TeM BT
UATd U 3T 9t g3t el $T rurd ghm:

1.15:17:19
2.19:21:20
3.14:20:21

4.20:19:21

Correct Answer :-

e 14:20:21

24) Find the average of first 15 natural numbers? / UJH 15 UIT%'CF'H@TGP[ T 3d ﬁrcquE:\Tﬂ”
1.4

2.6

3.10

4.8

Correct Answer :-

25) A train, 100 m long is running at the speed of 45 kmph. Find the time taken by it to pass a man

standing near the railway track. /T 100 IﬂETFlﬁﬁa:f 45 fopi/ae ﬁmﬁﬂﬁ?ﬁ%l WW
I P P U TS TP AR B UR B § T 9Tt IHI J1d PHord |

1. 8 sec /8 TS
2.10 sec/ 10 Yhg
3. 12 sec/ 12 YhS
4,2 sec /2 UHS

Correct Answer :-

. 8sec/8UPhS

(25)



26) Anuj started a business by investing a sum of Rs. 20,000. Six months later, Pankaj joined him with a
capital of Rs. 15,000; after another three months, Puneet joined the team by investing Rs. 50,000. Find
the ratio of the profit the three get at the end of two years. / 3{<JST 20000 U4 H ATIR RS Pl gl6
TEH 976, Thol ISP ATUR | 15000 BT Yol TTHR Y SST; 3ATA oI T a1 GHId = 50000
ol 39 THE A TTH I A Y 771 2 TS 916 311 11 a1e ATY BT ST 8T -

1.3:2:1
2.8:3:5
3.14:12:11

4,16:9:25

Correct Answer :-

27) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ 7 f&d M R el & 9 9 fed M va & e 9AE o1 91 U 6l 52

Walter C. Brown
49 Featherstone Street
LONDON EC1Y 8SY

UNITED KINGDOM

(i) Walter C. Brown
49 Faatherstone Street
LONDON EC1Y 8SY

UNITED KINGDOM

(ii) Walter C. Brown
49 Featherstone Street
LONDON EC1Y 8SY

UNITED KINGDOM

(iii) Walter C. Brown
49 Featherstone Street

LONDON EC1Y 8SY
(26)



UNITED KINGDOM

(iv) Walter C. Brown
49 Featherstone Street
LONDON EC1Y 8SY
UNITED KINGDOM

1. il

Correct Answer :-

28) Find the sum of the given series: ATt m Cagin| Td ﬁﬂﬁﬂ!’:
1+2+4+8+16+32+ 64+ 128 +256 + 512 + 1024

1. 2047

2.2235

3.2389

4.2014

Correct Answer :-

o 2047

29) Find the average. r3ira Ao |
112, 118, 126, 132, 142 & 156

1. 131

2. 127

3. 130

4. 129

Correct Answer :-

(27)



« 131

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / 19 &} 7§ g@a ®, 3r&RY 3R Tewait &1 v % Afed €1 Tad "ate g

i.qcrt8512terq

ii.qert8512ferq
iii.qcrt8512terq
iv.qert8512terq

1. iil

Topic:- Science and Simple Arithmetic

1)

In the given figure, PQ | RS || TU and £ZPTU =8§2¢,then «SRT=__ ./ guw amw == &, PQ|
RS | TU @=m £2PTU =828, @ £.SRT=__
,.-P Q
R S
T. ‘ u

1.89°
2.80°
3.82°
4.98"

Correct Answer :-

(28)



2) Simplify / TX& &

G XD XETIXED

B3|

3) A man buys a plot of agricultural land for Rs. 300000. He sells one-third at a loss of 20% and
two-fifth at a gain of 25%. At what price must he sell the remaining land so as to make an

overall profit of 10%? / T TR = 300000 Q?.ﬁﬁ?f&m'l{&l@ﬂ'cﬁl I P TH-fagrs Wi &

20% 1 BT TR TYT G1-Tiad U B 25% TR o9 fGAT1 I F 10% TH WIS B & fore 2y a0t ¥y
DI [T g TR 991 N2

1. Rs. 150000 / 150000 >.
2. Rs. 90000 / 90000 .

3. Rs. 120000 / 120000 .
4. Rs. 100000 / 100000 .

Correct Answer :-

« Rs. 100000 /100000 %.

4) ABCD is a parallelogram and its diagonals meet at O. If OB = 4cm and AC is 5cm more than
BD, then OA=____ ./ ABCD U® IHiaR 9gys & forad fawof fiig 0 w e 1 af OB = 4 3.
TUTAC, BD ¥ 5 9. 51 5, AT OA =

1.3cm /3 I,
2. 7cm /7 T

3. 13cm/ 13 9.

(29)



4.6.5cm /6.5 9HT,

Correct Answer :-

« 6.5cm/ 6.5 9,

5) Find the value of x, if 4x = 982 - 882, / Tfg 4x = 982 - 882 T\ x BT W Id B |
1.186

2. 564

3. 465

4. 1860

Correct Answer :-

« 465

6) Three numbers are to one another as 2: 3: 4. The sum of their cubes is 33957. The numbers

are: / T TS TP G W 2:3:4 b 3UTd A §1 ST Ul 71 41T 33957 § 1 3 T&¢ =1 §:
1.6,9, 12

2. 14,21, 28

3.7, 14,21

4.8,12,16

Correct Answer :-

« 14,21, 28

7) 5929 Students are sitting in an auditorium in such a manner that there are as many students
in a row as there are rows in the auditorium. The number of rows in the auditorium are: /5929

B T ATSSINGT H 59 TRE 96 § % Roram o ver i & 93 , siifscifvan & Ia+i ¢ ufwmai §1
AffEeiivan & didmal it wen = 8:

1.72

2.77

3.35

4.78

(30)



Correct Answer :-

e 77

8) If an equilateral triangle ABC is inscribed in a circle with center O, then the measure of AOB

=_a4nuﬁwm§ﬁ‘ﬁﬁmcwwﬁmw%ﬁwﬁo%ﬁrmm
|

o
1. 120

o]

2.90

[+]

3. 60

4.150°

Correct Answer :-

9) A hollow cylindrical pipe is 21dm long. Its outer and inner diameters are 10cm and 6cm,
respectively. The volume of the copper used in making the pipe is: / Th GIEelt daThR urgy 21
dm A1 B 1 SHPT e a1 WA S HHR: 10 T, TUT 6 WL, 71 59 & Fwior & ot @i e F1
A e g

1. 105.6 cm? / 105.6 T 4T,

2. 10560 cm? / 10560 T T
3. 105600 cm? / 105600 B I,
4. 1056 cm? /1056 T T4,

Correct Answer :-

« 10560 cm? / 10560 T .

10) The difference between the simple and compound interest on a certain sum for 3 years at

10% per annum is Rs. 186. Which of the following is the sum? / Ff3d qae= W 3 Ti HT10%
1 ST Ft &% W ATYRYT TS YT Ahgfes oaT6T B 3R 3. 186 ¢ | F=1 & 1 gared foraar g

1. Rs. 6500 /6500 %.
2. Rs. 6000 / 6000 .

(31)



3. Rs. 9000 /9000 .

4. Rs. 12000/ 12000 .

Correct Answer :-

« Rs. 600076000 %.

11) What percentage of an hour is 2 minutes? / 2 ffFe, T He &1 foraar wfa=a 2

10
—9%0
1. 3

2.20%

3.200%

Correct Answer :-

10
=%
=]

12) Health is a determinant factor for being well in order to: / =T ?Fﬁ G %’E Y Th Auke
RS g, o {5

1. Function efficiently only / %dd E&‘HT{UT B PR D

2. Be mentally alert only / Had HFRIE ¥ I JdH W{AD

3. Be actively involved in society only / I JaTS! H Flchad! o 1Y JRferd X§ 9
4. All the above /BT@TK‘T gt

Correct Answer -

 All the above / wjaawﬁ

13) The cells are thin walled and enclose large intercellular spaces. The cells are living and they store food.

The above mentioned features are applicable to: | BIfRrpr3f Bt Sl udett Eﬁ?‘ﬁ % 3R HIfRreTel # a%
SR ITRIPT RIT T Bl &1 PIRIHT Shifad 7 3R 3 Ui Jufed Fedl 8 | STa I fad A&ur
fPawam R

1. Sclerenchyma / ?Gﬁw
2. Meristematic cells / fTAHTIID] BIRIBTIH

(32)



3. Collenchyma / ESNIRED
4. Parenchyma / Hgd®

Correct Answer :-

e Parenchyma / Hgdd

14) To digest cellulose, termites have in their intestine. / '\ﬁﬁ@ﬂ P T & ferg,
S & ariq d BT gl

1. bacteria / Trﬂ_CITf{[
2. protozoa / PICSIEI

3. viruses / dIAIRY

4. fungi / dddH

Correct Answer :-

* bacteria/ Gﬁa'ltﬂ

15)
If # + 3x%z = 2xyz, then # stands for: / AT i # + 3x%z = 2xyz, O & & A =ea glam:
1. 6x2yz
2. 6x2y222
3. 6x3yzz2
4, 5x3y222
Correct Answer :-

. 6x3y22

16) The photoreceptor cells of the eye, sensitive to bright light is: / THHGIX A= F ufa waga=ha sirat
B YHRATS! HIRGIE gl 3:

1. Cones /321@ m

2. Rods / T[] RIGH)
3. Iris / URGIRET (3MSR)

4. Pupil / Gaail (FU)

(33)



Correct Answer :-

« Cones /TP @T\E[)

17) Group of organisms that resemble each other are: / Sital ®T1 a8 qfqg il Th W I A @1 %, = %:
1. Biosphere/aaﬁ?:ﬂ

2. Community / JHalg

3. Species / PE(IREI

4. Biotic community / Sitg R3ke AR

Correct Answer :-

e Species/ PEIIERI]

18) Which one of the below mentioned diseases can be prevented by vaccination? /I sRfRaIM A S
59 T® 3 SFTHR1 GRT ABT 51 THaT 82

1. Diabetes /I[g'fﬁ{ (@;"I'Cla—cﬁﬁ)
2. Hepatitis / IHaNY (FUCTS(ew)
3. Cancer / $IR

4. AIDS UgH/

Correct Answer :-

 Hepatitis / WU (%ﬁa‘{ﬁm

19) Use of agriculture farming system with minimum or no use of chemicals, use of maximum input of

manure, farm wastes and bioagents is known as: / <gdH T 31T e & v ot ﬁ QT yoITett T
SN, W & SHftrpad e, Wasruiv ok W SR BT IUAIT Seard o:

1. Biofertilizer farming / SIaGaR® B
2. Organic farming / @‘q’ﬁ

3. Genetic manipulation / BWTW R
4. Biochemical farming / W@

Correct Answer :-

* Organic farming / aﬁ?ﬁf

(34)



20) Name the phylum in which the animals have water vascular system. / 3 WIgCTH I HH ddISU, o
uxgait # oTet Waeh o ST @

1. Mollucus / HTeg@¥

2. Platyhelminthes / @?ﬂ%’%ﬂﬂﬁ

3. Coelenterate / Hidiexe

4, Echinodermata / wls:ilsrl Cl

Correct Answer :-

e Echinodermata / Q@Ig:“@:l cl

21) Electrolysis of aluminum oxide is an example of . &g&rﬁw G-IVTGQ:lTE'S' Cal ﬁgﬂ'ﬂ yycH
BT e 8 |

1. Formation reaction / 2T SH{fehaT
2. Decomposition reaction / 3{UHC Sifufdar
3. Displacement reaction / faRTg= ff¥fdar

4. Double decomposition reaction / fg araee siffshar

Correct Answer :-

« Decomposition reaction / 3{UdC STehar

22) The disease caused by breathing polluted air is: / mﬂ'w H 4 Ek:] _6'.1% arell SErRY %:
1. Chicken pox / EECY

2. Jaundice / Uifera

3. Asthma / GHI

4, Cholera /%\_rﬂ

Correct Answer :-

e Asthma/GHI

23) Earth’s magnetic field is directed towards . qvfrm ﬂ'@ﬂ"ﬁ'ﬂ' &= Pt AR e giar
Bl

1. South / Gf&r

2. East/qﬁ
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3. North / 3«i¥
4, West / Tf&H

Correct Answer :-

e North / 3«dX

24) Identify the INCORRECT statement from the following. / %1 & & TeTd S Y= UgdI—Tl

1. Epithelial tissue is present in the lining of lung alveoli. / SUP I Hdd @%H?IFL\JOPI & IR T IURRYA Eﬁﬁ%l

2. Epithelial tissue has lot of intercellular space. / SUDP I Hcldh T AP SARIPIRID G fvﬁ?ﬁ%l

3. Epithelial tissue layer is permeable layer. / Ul SHddh D! IR IR W@?ﬁ%l

4. Epithelial tissue is protective tissue in animal body. / SUD T HdD U] % IRR T eft SHad g gl

Correct Answer :-

 Epithelial tissue has lot of intercellular space. / SUB AT AP T 3fdd SITRIBIRG oF I Gldnl %I

25) When there is an electric current passing through a wire, the particles moving through the wire

are .1 579 fagaa urT et AR & warfea 81 36T 81 3, a1 9% ¥ IR i $31 aral St
goi

1. protons/m_c"vl:f

2. atoms / 3{U]

3. ions / 314

4. electrons / sﬁa%j':r

Correct Answer :-

« electrons /3?1—0@1}7[

26) An image that cannot be obtained on a screen is: / dg IGICCAST 'CR% U Yisd '_'I'Eﬁaﬁ' ST Hpal %:
1. Virtual image / STURY ufdfdd

2. Real image / qrdfde gldfed

3. Refracted image / 3uafdd ufafed

4. Inverted image / gfaaifid ufdfda

Correct Answer :-

 Virtual image / STURT ufdfds
(36)



27) Which one of the following is responsible for the difference in the voices of men, women and babies?/

goul, Afgarsi 3R awf @ smarel | SR & fore e # & o fordieR giar 82
1. Vocal cords / ST

2. Lungs / s

3. Pharynx / 9T

4. Wind pipe / §TE-Tal!

Correct Answer :-

e Vocal cords / BILRE]

28) 17 (2 —x) =5 (x+12)
Solve / Eﬁﬁ: 1-7x =8

1.-2

2.3

3.1

4. -1

Correct Answer :-

29) The following pie chart shows the marks secured by Ravi in different subjects. If he scored 80
marks in Mathematics, then the marks scored in chemistry is: / ﬁwﬁ-ﬁﬁruﬁaﬁ I grfafi=

fawat & aifola 3 o1 UehRid ®dr g1 afe 3= T § 80 3ids 3ifold frw g1 d) SUH IR IR |
ﬁﬁﬁwmﬁﬁ

MARKS

e \\_\

,»"// \\
/ chemistry s,
’,r" 239 mathematics
e 28% !

computer |

science | ,r‘f

. 21% /  Rhysics

* / 28%

1.90
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2. 80
3.85

4. 68

Correct Answer :-

30) The base of a parallelogram is thrice its height. If the area is 867cm2, then the height of the
parallelogram is: / T JHTIR AU BT SATYR, IHBT GATS BT o1 AT 8 | STDT &ABH 867 O
Tt B, 9t st SHarg A g

1.21 cm /21 94,
2. 24 cm /24 I,
3.51 cm /51 .
4.25.5 cm/25.5 9.

Correct Answer :-

e 21 cm/21 94,

(38)



